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Use a proportion to find the unknown length in the pair of similar figures.
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length of sides: length of sides:
PM = 55m GF = 77m GH = 16vyd LI = 90yd
OP = 45m  HG = 63m eF=[__ | 1) = 36yd
NO = 10m FE = 49m FG = 40vyd KL = 36vyd
MN=3m EH=[__ | HE = 40yd JK = 90yd
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Iength of sides: length of sides:
QP = 10cm ML = 42cm Gl = JL = 150 km
TS = 24cm KO = GH = 88km KL = 165km
PT = 12cm NM = 9cm H=[___ | K= 60km
SR = 6¢cm KL = 15cm
RQ = 28cm ON =
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length of sides: length of sides:
CD = 30ft KL = 3ft IH = 98in FE = 154in
AB = 30ft IJ = 3ft GH = 91in FD =
pA=[___ | L= o2f Gl = 35in  ED = 55in
BC = 20ft JK = 2ft
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